D10
1. PIETRO

01 Przedpokdj 11,71
02 tazienka 5,32
03 Sypialnia 10,43
04 Salon z aneksem 19,96
05 Sypialnia 12,33
59,75 m?
%
4 @
=2 K i :: -
5175 S 8, 170 1030 [0 S s
= T 2 90 o S
R/ éﬁ 207 7
@110 0 \g o ©
215 2 ) o N 207 S 5
Sypialnia = ™~ Lazjenka
= 03 & T 02
P O O 5,32 m?
= — 355,5 J 104\/ ¥ 5[9 10, 180 \&I}% 123) 10 1725
c BT ><
~ K « Salon z aneksem _ .
0 - ) 04 |
0 19,96 m?
L \ o B 3
/200 | H ,/»g/g | N b g
5215 | A [[s == 605.5 8, | 3045 Fonnd
i 81 dpok
U 7 | 01
M \ profi/poszerzajacy 13cm | @A m?
I folis ) \ ~lm
H = 7 B—— ‘ + I
|0 | =2 A= Z | | S -
LM_M_IA_M_M_'JA_M_MJ ::( /j
s &é il i ] 3595 4 90 " 84,5
Il RN o) \ J
[ 8 &g - /g
r o] 230 = g 3 J 3
e i © 8 IS IS IS
€ H =
[= u’\’_ M 1 &
a3 0| Loggia'" I
i @E Syplalnla
H I H 05
0 ~ 12,33 m?
_




	D10 .

